Seat No.

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C310702

Date: 25/5/2016

Subject Name: Fundamental of Digital Electronics

Time: 02:30 PM TO 04:00 PM
Instructions:
Attempt all questions.

Each question is of 1 mark.

th B W=

English version is authentic.

Total Marks: 70

Make suitable assumption wherever necessary.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

No. | Question Text and Option. Y8l ol [Ascul.

What is the base of octal number?

1. |A |2 B. (8
C. |10 D. |16
ulseel oll AR secll sla B2
oA ]2 B. |8
C. |10 D. |16
Full form of ALU
2. | A. | Arithmetic & logic uniform Arithmetic & logic unit

C. | Addition & logic uniform

9| =

Addition & logic unit

ALU of Y3 ol dull.

2. | A

wAUNRs & clBs Yelshl

B. | uaunlRs & dl@s ylle

C. | ABast & cdlBs yRAs01

D. 1 AR & AB@s yke

Which one is known as brain of computer?

3. | A. | Monitor B. | Keyboard
C. | Printer D. | CPU
ol sl1ejeRe] deSel sEcML WA B.
3 [ A dReR B. | 4l-o0l§
C | @o? D1 dldly
Collector voltage is , When transistor is in Saturation
4 A |0 B. | +Vcc
C. |-Vcc D. | None of these
glodflier ARawetil 8lal B R sdser @y A B,
¥. A |0 B. | +Vce
C. | -Vee D. | s ug @
Full name of ECC
5. | A. | Error code correcting Error code control

C. | Error correcting code

B
D. | Error control code

ECCof Y3 ol clull

Y. ['A. T Error code correcting

B. | Error code control

C. | Error correcting code

D. | Error control code

number is

In signed binary number if MSB is 1 then Number is

& MSB is 0 then
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A. | Negative , Positive

Positive , Positive

C. | Positive , Negative

B.
D.

Negative , Negative

UBeS ollael] dlolHl %l MSB 1 8lal dl d «lelR

Al MSB 0 8l ll

d ol sl 8.

> A Taade, W@ B [ Q3da, olGdd
C. | B, Adda A, Al
Signed binary number is used in .

7. | A. | Ato D converter B. | Dto A converter
C. |A&B D. | None of these
UBes oll2etd] eloell Guallal Ul .

9. | & | AtoDsoad? B. | Dto A soal2?
C. |A&B As el
(101010.01)2= (o

8. [A [(51.75)10 B. | (660875)10
C. [(12.625)10 D. |(42.25)10
(101010.01)2 = ( )10

¢. [A T(LI5I0 B. [ (660875)10
C. [(12.625)10 D. |(42.25)10
9Dio=( )2

9. [A. J101101 B. [ 1011101
C. [ 1111101 D. [ 101111
(93)10=( )2

¢. |A. [101101 B. [ 1011101
C. [ 1111101 D. |101111
(435)10=( )s

10. [A. [435 B. [535
C. [563 D. | 663
435)10=( )

0. [A. [435 B. [535
C. [563 D. | 663
(1011110)2=( s

11. [A. [570 B. [ 167
C. [136 D. [412
(1011110)2=( s

4. [A. [570 B. [ 167
C. [136 D. [412
Boolean expression of 3-input NANDgate is

12. [A. [Y=(A+BCY B. | Y=AB+C
C. | Y=(ABC) D. | Y=A+BC
3 SolYy2 NAND 324} odatst Ase et Rl

R. A [Y=(ABCYy B. | Y=AB+C
C. | Y=(ABC) D. | Y=A+BC
Boolean expression of EX-OR gate is

13. [A. [Y=A'B'+AB B. [ Y=A'B+AB’
C. | Y=AB+A'B’ D. | Y=AB
EX-OR 3824 ¢j[@alot Asedsalet opual.

3. [A. [Y-A'B+AB B. [ Y-A'B+AB’
C. | Y=AB+A’B’ D. | Y=AB
14. | How many universal NAND gates are required to develop NOR gate?
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A |1 B. [2
C. |3 D. |4
NOR 3852 olollelcll Secll Yolladet NAND dleo(l %32 ud?
. A 1 B. |2
C. |3 D. |4
How many universal NOR gate is required to develop NOT gate?
15. |A |1 B. [2
C. |3 D. |4
NOT 382 olottaal decl Yollade NOR ASeoll %32 ud?
W A T1 B. [2
C. |3 D. |4
In logic OR operation any one input is 1 then output is __.
16. [A. |0 B. |1
C. |2 D. | None of these
Al s R wuReul SIS As Saye 1 6lal dl wbaye __ wud
s. [A. |0 B. |1
C ]2 D. 195 ugl «1@
Which code is unweighted code?
17. | A. | Binary B. | Gray
C. | Octal D. | BCD
o{lAsttHiell s20 Sls ualdiFes sls B2
19. [A. [ Binary B. | Gray
C. | Octal D. | BCD
From below which one is arithmetic gate?
18. |A. [EX-OR B. | EX-NOR
C. | A& BBoth D. | None
AryHRs e sall B2
1¢. | A. [EX-OR B. | EX-NOR
C |A&Ba D. s ual o3
How many 2:1 Mux required to Develop 4:1 Mux?
19. A [1 B. |2
C. |3 D. |4
4:1 HEEWA R olollaal 32el 2:1 Hedlvdeell %32 ud»?
. A i B. [2
C. |3 D. |4
32:1 Mux has selection lines.
20. [A. |2 B. |4
C. |5 D. |8
32:14 A aR Ml RdAsael cllEst sl 87
0. [A |2 B. [4
C. |5 D. |8
(111100 * (1.01)2=( )
21. | A. [1000.00 B. | 10010.1100
C. [ 111011.11 D. | 101010.0011
(1111.00), * (1L.OD2=( )
4. [A. [1000.00 B. | 10010.1100
C. | 111011.11 D. | 101010.0011
22 Write down Remainder of (1011101}, + (1010); = ( )7

A,

| 0000

| B.

| 0101
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| 0100 |D. [o0010
(1011101)2 = (1010)2=(  »A™ weudl

2. A, 0000 B. |[0101
C. [ 0100 D. [ 0010
Convert binary number into Gray code: (011110);

23. [ A. [ 010001 B. [010101
C. | 000001 D. | 010010
otletdl oloHiel Jsls olot? §A2(011110),

3. ['A. [o10001 B. [010101
C. | 000001 D. | 010010
How many bits are there in 1 Word?

24. [A |1 B. |16
C. |4 D. |8
adul decl ofle sla B2

%, | A |1 B. 116
C |4 8
(ABCD)6 = ( )s

25. | A. [(125715)s B. [(175215)s
C. (625135)3 D. |(725115)s
(ABCD)i6 = )s

U, [ A (125715)3 B. [(175215)s
C. | (625135 D. | (725115)
Convert Gray code into Binary code: 111110

26. | A. [101010 B. [ 100100
C. | 101011 D. | 101101
Asls oloiRey olletd] alolRML 5312 111110

?S. [A. 101010 B. [100100
C. | 101011 D. | 101101
Find 2°s complement of (10111)..

27. [ A. | 01000 B. | 01010
C. 01001 D. [ 01011
2°s slnelie ellal? (10111),

?9. A, T01000 B. [01010
C. 01001 D. [ 01011
(AT2E}i6=( )s

28. | A. [(123456); B. [(123654)s
C. | (654321) D. |(654123)s
(A72E)16=( )s

¢. | A [ (123456) B. [(123654)
C. | (654321)s D. |(654123)s
(0.577024)s=( )16

29. | A. [ (0.8AF7)6 B. | (0.BF85)s
C. | (0.AFBF)is D. | (0.CDE3)s
(0.577024)s=( hi6

R¢. | A. | (0.8AF7)6 B. | (0.BF85)s
C. | (0.AFBF)s D. | (0.CDE3)s
According to the Boolean algebra A+1=

30. [A. |0 B. [1
C. [A D. | A

30. | oj[daot Aepuloll Fa YuIdl A+1=
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A,

0 B.

1

C.

A D.

AB

According to the Associative Property which expression is true?

31. [A. | A+B=B+A B. | A+BC=(A+B}A+C)
C. | A+B+C)=(A+B}+C D. | A+AB=A
AAR2AE o WUl 20l
3% [ A. [A+B=B+A B. | A+tBC=(A+B}A+C)
C. | A+B+C)=(A+B}+C D. | A+AB=A
Which Logic gates are require to implement Boolean expression Y=A+A"?
32. | A. | NOT & AND B. | NOT & Ex-OR
C. | NOT & OR D. | NOT & NOR
o(@alet Asg Aot Y=A+A’ sl Alofls e veul €13 Asia?
32. [A. [NOT & AND B. | NOT & Ex-OR
C. | NOT & OR D. | NOT & NOR
From below which term is in Standard SOP form?
33. |A. [ ATABC+BC B. | AB’C+A’B’C+ABC
C. | A’'B’C’+AB’C+BA D. | ABC'+AC+A’BC’
o{lAotiiiell 58 23 215§ soP sl B2
33. TA. TA+ABC+B’C B. | AB°C+A’B’C+ABC
C. | A’'B’C’+AB’C+BA D. | ABC’+AC+A’BC’
Which method can systematically and easily solve Boolean expression?
34. | A. | Boolean algebra B. | De Morgan’s theorem
C. | Tabular method D. | K’ map
o(@alot AseYalotal A wlottetall H2e(l 58 At flRAs B2
3%. | A | of[@atet Reoll B. | 4] AQlolet yRa
C. | 2eyar dld D. | gelfs Ay
8 cell K-map have how many variables?
35. |A. |4 B. |3
C. |2 D. |1
K-HuHl 8 Ad 3ecll AlAnd old &2
3w, | A |4 B. 13
C. |, D. |
In K-map cell’s sequence is indicating by which code?
36. | A. | Gray code B. | Binary code
C. | BCD code D. | Excess-3 code
K-AuHl Actoll llsceal  sls yHdl ealaaudi ua 8.
36. | A | 3sls B. | waetdl
C. | BCD 8ls D. | Asdqu-3
From below which is not in a standard POS form?
37. | A, | (AtBHOYA+B+CY A+B+C’) | B. | (A+B’+CYA’+B’+C)( A+B’+C”)
C. [(A+B+C)YA+C)Y A+C) D. [ (A+B+C)(A’+B+C)( A+B+C?)
ol AstHiell 8¢5 21 2los§ POS Sliul «12l?
39. [A. [(A+BCYA+B+C Y A+B+C’) | B. | (A+B+C)A+B+C) A+B’+C)
C. [(A+B+C)YA+C)Y A+C) D. | (A+B+C)(A’+B+C) A+B+C?)
In Boolean algebra, AB+A’C+BC = AB+A’C expression indicate which property?
38. | A. | Commutative B. | Distributive
C. | Consensus D. | Absorption
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of(@ 2ol AHollHl AB+A’C+BC = AB+AC 58 Uludl cald 82

3¢, | A | siedla B. | flaflegdla
C. | Sloouat D. | ol idlet
In Boolean algebra, A+A’B=A+B expression indicate which property?
39. | A. | Commutative B. | Distributive
C. | Associative D. | Absorption
o(@alet Aol A+A'B=A+B 58 YUl eald 87
3¢, | A | siRéla B. | flxdloxdla
C. | Aqdlada D. | Roalldlet
SOP function can be implemented by which Gate?
40. [A. [NOT B. | NAND
C. [NOR D. | AND
SOP $5%lotol el Sellie 53l asia B2
¥0. | A |elle B. | aes
C a2 D. | Aes
A group which has all its values also contained in some other groups is called a
41, group
A. | Redundant B. | Overlapping
C. | Rolling D. | Individual
% 9 Uall oitil 1 oflast opuU ealll W ARAU Udl sl & d Iudl U 5&
8
¥ & 5 .
+ | Asesor - | lar@lat
C. | AellaL D. | Setdllorpua
In which 2-input Logic Gate both inputs are applied at same level then output is 07
42. [A. [NOR B. [OR
C. [Ex-NOR D. [Ex-OR
% 2 Sotye JAF2Hl vlol Selye UMlel dAles Adel UR sl @R %l 262ye o
wd dl d Asea A2 58 B
¥R,
Al alR B. |z
C. | Asu-ellR D. | Asu-2l2
From below which is the example of Sequential Circuit?
43. | A. | Encoder B. | Comparator
C. | Multiplexer D. | Shift Register
o{lAstuiell 58 uRsle Alsacallact usleq] Gelgel B?
¥3. | A | Aetsls? B. | simve?
C. | nedhdsa D. | sllse 2oprez
In Half Subtractor borrow is implemented by and Gates?
44. [A. [NOT & OR B. | AND & OR
C. [ NAND & OR D. | NOT & AND
8l Aus2UL ol ol 2ol Heeall lacissn saLHl
XY,

uld 8.
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Al ole wal AR

B. | Aos wal R

Co | Qos el 22

ole Ul oS

Full adder is implemented by

and Gates?

45. | A. [2-Ex-OR,2-OR & 1- AND B. [2-Ex-OR, 1- AND & 1- OR
C. | 2-Ex-OR, 2- AND & 1- OR D. | None of these
el ASR ololldal sAL sAL A2 SN ?
A | 2-Asu-3llR,2-32 ual 1- B. | 2-85-3lR, 1-3R ual 1-Aes
YU, o5
C. | 2-Rsu-2A02,2-Aes U 1- D. | as wal @
AR
How many inputs and outputs are there in Full Subtractor?
46. | A. | 2input, 2 output B. | 2input, 3 output
C. | 3input, 2 output D. | 3input, 3 output
S AOZ5SRML Fecll Solye A e ye sl B?
¥s. |4 |2 Selye , 2 wBeye B. 12 &eye , 3 wBeye
C. |3 8eye , 2 UGy D. 13 eye , 3 2uBeye
Find Excess-3 code of BCD number : 1001
47. [A. 1100 B. [ 1010
C. [ooi1 D. | 0101
BCD olot? 1001 oll W5AU-3 oleR 52l &2
¥9. A 11100 B. 1010
C. [ooi1 D. | 0101
In Half Adder carry’s Boolean expression is ?
48. [A. JAB B. [AB
C. [AB D. [AB
6lg WsUL 53lo] oj(@alet sy alol 8.
¥C. (A [AB B. [AB
C. [AB D. | AB
Boolean Expression of Difference in Half Subtractor?
49. [A. [A'B+AB’ B. | (A’B). (ArB)
C. |ABtA'B’ D. | (AtB).(A'B)
ol Actimiell 615 UUZs2Rl SlsR0vq] oA ast MsgYaAst 8.
¥€. A [AB+AB’ B. | (A+B). (A+B)
C. [ABIA’B’ D. | (AtB).(A"B)
1- Bit Magnitude Comparator has AND Gate?
50. [A.J0 B. |1
C. [2 D. [3
1-ofle Aoelleys s1dReUL 32cll Wos A2 sla B?
wo. |A o B. |4
C. |, D. |;
In 1-Bit magnitude comparator what Ex-OR Gate indicates?
51. [A. [A>B B. [A=B
C. | A<B D. | None
0 1-o{le Noofleyys s1UzeUl Vsu-R e g eald &2

A | A>B

|B. [ A=B
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Evaluate: (1011); + (1011), + (1011),= ?

52. [A. 101010 B. [010010
C. [ 100111 D. [ 100001
oLl 5L (1011)2 + (1011)2 + (1011)2 = ?

2. A 1101010 B. [ 010010
C. [ 100111 D. [ 100001
Evaluate: (1101.110); - (100.011),= ?

53. [ A. Jo0110.101 B. [10010.011
C. [1001.011 D. [1100.011
2Lt ?l 8A: (1101.110)2 - (100.011), = ?

43. [A. T00110.101 B. [10010.011
C. [1001.011 D. [1100.011
Which is the Universal Gate?

54. [A. [ NAND B. [NOR
C. | A& B Both D. | None
ol Aottutiell Yolladlet ASe s2l B2

wy. oS B. a2
C. |A&Boa D. | as wal «1
POS function can be implemented by which Gate?

55. |A. [NOR B. | NAND
C. [OR D. | AND
POS $5%etol el Srcllie sl asia B2

wy, | A feR B. |
S EE D. | A5
Multiplexer also known as?

56. | A. | Input selection B. | Control selection
C. | Data selection D. | Output selection
HElAsAA g sdaul wd B2

us. | A | Setye RAsaet B. | s2la Rds2R
C. | 3eL RaAse? UBeye Rdsast
8:1 multiplexer has output?

57. [A. ]2 B. [4
C. |8 D. |1
8:1 HEEl A s2Rul 32cl wBaye &l B?

3. [A T2 B. [4
C. |8 D. |1
Decoder has 3 inputs then find no. of outputs?

58. A, |2 B. |4
C. |8 D. [16
Slsls2ul 3 Saye WA dl el 2uBeye sla?

we. | A |2 B. 14
C o8 D- 116

59 Which expression is from below indicates De Morgan’s Theorem?

A. [(AIBICYy=A’B'.C’

| B.

| (ATBY=A"1B’
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C. [(AtB-C)=AtB’C |ID. [(ABy=A"R’

ol Yottmiall 53 Axllse Sl-Hlolotell Yy &2

A. [(AIB:Cy=A’B'C’ B. | (ABY=A"+B’
C. | (ATB+C)=A+B+C D. |(ABy=A"B’
4:2 Encoder have selection lines?
60. |A. |1 B. |2
C. |3 D. |0
4:2 AaslsUl 3ecl RAsAt clSal sl §7
s0. | A |1 B. |2
C. |3 D. [0
Solve Boolean expression: AB+ (AC)’+AB’C (AB+C).
61. | A. | AB B. 1
C. | ABTAC D. | AB+C
of(@alet AsgY st Aacll: AB+ (AC)+AB’C (AB+C).
St [A. [AB B. |1
C. | AB+AC D. | AB+C
In 2-input EX-NOR gate if one input is “A” and other is ‘0’then output is
62. |A. |0 B. |1
C. |A D. | A°
2-8ely2 EX-NOR AaHl %l A5 Seiye ‘A> sl ool Sotye 07 slat
c2. |wBeye=__ _
A |0 B. 1
C. |A D, A
Give the relation between max term(M) and min term(m)
63. |A. | M=-m’ B. | M=logiom
C. | M=m+1 D. | M=m"2
Asu edovy el Hlot 2di(m) el Aot el
$3. [A, [M=m’ B. |[M=logiom
C. | M=m+1 D. | M=m"2
What is the base of hexadecimal number?
64. |A. |2 B. |8
C. [ 10 D. |16
dsndl1atell A g B2
S¥. [A. ]2 B. [8
C. [ 10 D. |16
1 ANDOQ =
65. |A. |0 B. |1
C. |10 D. |01
1 AND O =
su. |A. [0 B. 1
C. |10 D. [01
What is the output of NOR gate when A=) and B=0.
66. | A, |11 B. 10
C. |1 D. |0
oll2 ASeell wWBaye 2R A=) Ul B=0 &lad AR alat
$s. [A. |11 B. [10
C. |1 D. |0
67. | Find 1’s complement of 0101011
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A. [ 1110000 B. | 1010000
C. [ 1011100 D. | 1010100
1°s sline(ldz 2llll? 0101011
$9. ['A. [1110000 B. | 1010000
C. [ 1011100 D. | 1010100
Find 9°s complement of 31
68. A 68 B. |86
C. |70 D. |57
31q] 9°s sleflile alul?
SC. A. 68 B. 86
C. [70 D. |57
Find 10’s complement of 86
69. A [16 B. | 14
C. [12 D. |22
869] 10°s slie{lile 2lul?
SE€. [A. [16 B. |14
C. [12 D. |22
How many bits are there in 1 Byte?
70. [A. |1 B. |4
C. 8 D. |16
1 ouSeHl Seal olle sla &2
90. A T1 B. |4
C. 8 D. |16

SRRk stk R Rk Rk R R
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